TOH 16-09R-046 TOWN OF HUNTINGTON

Town Hall - 100 Main Street Phone: (631) 351-3177
Huntington, NY 11743-6991 Fax: (631) 351-2833
http://HuntingtonNY .gov

Lori E. Finger, CPPB For additional information contact Denise Gallo
Director of Purchasing purchasing@huntingtonny.gov Purchasing Agent

AWARD: REPLACEMENT AND OR REPAIRS OF VARIOUS WASTEWATER
TREATMENT PLANT EQUIPMENT PARTS-SELECTED ITEMS
BID NO. TOH 16-09R-046
BID OPENED: 09/29/16
CONTRACT PERIOD: 10/06/16 TO AND INCLUDING 09/30/17
CATEGORY #9: ENVIRONMENTAL SERVICES, RECYCLING AND REFUSE
SERVICES
ALL PRICES ARE FOB TOWN OF HUNTINGTON

AWARDEES:

#9797 G.P. Jager, Inc. Tel: 973-750-1180
P.O. Box 50 Fax: 973-750-1181
Boonton, NJ 07005 zstolc@jagerinc.com

Attn: Zuzanna Stolc, Office Manager

#1015 Fleet Pump & Service Group, Inc. Tel: 914-835-3801
455 Knollwood Road Fax: 914-835-2946
White Plains, NY 10603 mcavanagh@fleetpump.com

Attn: Mark Cavanagh

Pursuant to New York General Municipal Law §103(16), the contract awarded hereby shall be made available to
other New York State governmental entities and, therefore, any New York State officer, board or agency of a political
subdivision or of any district therein authorized to make purchases of apparatus, materials, equipment or supplies, or
to contract for services related to the installation, maintenance, or repair of apparatus, materials, equipment or
supplies, may make such purchases, or may contract for such services through the use of this contract. Said entities
using this contract shall be wholly responsible for the determination that the contract meets their requirements and for
the issuance of said contract and shall be solely responsible for the payment of any and all debts and claims that arise
thereunder.



mailto:zstolc@jagerinc.com
mailto:mcavanagh@fleetpump.com

TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
Section #1: Supply replacement parts for BDP belt press parts 1.5m
BDP (Job # 760) belt filter price (1987) Price per Unit
Parts:
BDP
MANUFAC-
TURED REQD
WEAR PER |MANUFAC; PART
ITEMS PRESS | TURER NUMBER |[DESCRIPTION
SET OF (2)
3-610-524 DOCTOR
1-1 1 BDP (P2) BLADES Fleet Pump & Service Group, Inc. $160.00
FEEDBOX
1-2 1 BDP 1-BDP-0025 SEAL Fleet Pump & Service Group, Inc. $145.00
SET OF (2)
GUIDE RAIL
1-3 1 BDP 3-610-1120 SEALS Fleet Pump & Service Group, Inc. $108.00
SET OF (2)
1-BDP-0032 | TOP SHOWER
1-4 1 BDP (60™) SEALS Fleet Pump & Service Group, Inc. $200.00
SET OF (4)
BOTTOM
1-BDP-0033 SHOWER
1-5 1 BDP (60™) SEALS Fleet Pump & Service Group, Inc. $345.00
TRACKING
1-6 2 BDP 3-310-89 |SLIDE PLATES| Fleet Pump & Service Group, Inc. $108.00
3-610-842 TRACKING
1-7 4 BDP (P1) PADDLE Fleet Pump & Service Group, Inc. $102.00
3"NYLON
1-8 5 BDP 3-650-74 TABLE ROLL | Fleet Pump & Service Group, Inc. $1,545.00
6" NYLON
COMPRESSIO
1-9 12 BDP 3-610-871 |N/IDLER ROLL| Fleet Pump & Service Group, Inc. $2,580.00
6" NITRILE
TRACKING
1-10 2 BDP 3-610-1238 ROLL Fleet Pump & Service Group, Inc. $2,755.00
8" NYLON
COMPRESSIO
1-11 6 BDP 3-610-1049 |N/IDLER ROLL| Fleet Pump & Service Group, Inc. $3,110.00
10" NYLON
COMPRESSIO
1-12 3 BDP 3-610-963 [N/IDLER ROLL| Fleet Pump & Service Group, Inc. $4,050.00
20" NITRILE
1-13 1 BDP 3-610-1615 | DRIVE ROLL | Fleet Pump & Service Group, Inc. $6,580.00
24"
PERFORATED
1-14 1 BDP 2-610-165 ROLL Fleet Pump & Service Group, Inc. $12,400.00




TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
Any part not listed for BDP belt press - %
1-15 N/A Above Manufacturers List Cost Fleet Pump & Service Group, Inc. 0%

Section #2: Flowserve Actuator Limitorque Accutronix

Parts and Labor:

2-1 Percentage off Manufacturers List Price for materials NO AWARD
2-2 Labor Cost to Repair Listed Equipment
2-2a Mechanic: /HR NO AWARD
Helper: /HR NO AWARD
2-2b Labor Rates (Weekends and Holidays)
Mechanic: /HR NO AWARD
Helper: /HR NO AWARD
Section #3: Envirosight Rovver 5.0 Motorized Robotic Color
Camera. Rover 600 and TR 150
Parts and Labor:
3-1 Percentage off Manufacturers List Price for materials NO AWARD
Labor Cost to Repair Listed Equipment
3-2 Bench Charge: /HR NO AWARD
Section #4: Penn Valley Model 4" Double Disc Pump - Price Per
Unit
Item # Description Part#
9-1 Suction Housing PVC101 NO AWARD
9-2 Intermediate Housing PVC102 NO AWARD
9-3 Discharge Housing PVC103 NO AWARD
9-4 Swan Neck , Cast Iron PVC104 NO AWARD
9-5 Pedestal PVB106 NO AWARD
9-6 Center Support PVB107 NO AWARD
9-7 Drive Shaft PVB108 NO AWARD
9-8 Cam Lobe PVA109 NO AWARD
9-9 Con Rod Suction PVC110A NO AWARD
9-10 Con Rod , Discharge PVC110B NO AWARD
9-11 Drive Rod , Suction PVAl1ll NO AWARD
9-12 Drive Rod , Discharge PVA112 NO AWARD
9-13 Trunnion PVB113 NO AWARD
9-14 Trunnion Clamp Ring, Suction PVB114A NO AWARD




TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
9-15 Trunnion Clamp Ring , Discharge PVB114B NO AWARD
PVC188 or
9-16 Integral Disc, Suction PVD632 NO AWARD
PVC160 or
9-17 Integral disc, Discharge PVD633 NO AWARD
9-18 Gasket , Suction PVB119 NO AWARD
9-19 Gasket , Discharge PVB120 NO AWARD
9-20 Clack Valve PVB121 NO AWARD
9-21 Clack Valve Spacer PVA122 NO AWARD
9-22 Special Washer PVA138 NO AWARD
9-23 Drive Pin PVA182 NO AWARD
9-24 Bearing Con Rod PVA242 NO AWARD
9-25 Bearing Pedestal PVA245 NO AWARD
9-26 Drive Cover PVB123 NO AWARD
9-27 Priming/Drain Plug PVA180 NO AWARD
9-28 1/2"-13 UNCx5" Bolt PVA390 NO AWARD
9-29 1/2"-13 UNCx3-1/4" Bolt PVA389 NO AWARD
9-30 1/2"-13 UNCx2-1/4" Bolt PVA388 NO AWARD
9-31 1/2"-13 UNC Nut PVA386 NO AWARD
9-32 1/2" Flat Washer PVA385 NO AWARD
9-33 1/2" Lock Washer PVA384 NO AWARD
9-34 1/2"-13 UNC x 2" Bolt PVA387 NO AWARD
9-35 5/16"-18x3/4" Bolt PVA383 NO AWARD
9-36 5/16" Flat Washer PVA382 NO AWARD
9-37 5/16" Lock Washer PVA381 NO AWARD
Section #7: Supply replacement for Trogan UV3000 Plus unit
Price Per Unit
Item # Decscription Part #
7-1 Lamp holder, Amalgam 4 wire 60" [316135-060 NO AWARD
7-2 Lamp holder, Amalgam 4 wire 78" |316135-078 NO AWARD
7-3 Lamp holder, Amalgam 4 wire 96" [316135-096 NO AWARD
Lamp holder, Angular Amalgam 4
wire 60"
7-4 New No.: 316505-060X 316473-060 Fleet Pump & Service Group, Inc. $47.00
Lamp holder, Angular Amalgam 4
7-5 wire 78" 316473-078 Fleet Pump & Service Group, Inc. $51.00




TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
Lamp holder, Angular Amalgam 4
wire 96"
7-6 New No.: 316505-096X 316473-096 Fleet Pump & Service Group, Inc. $67.85
Camp, Hareus Amalgam (salmon
colored base) (4 recommended, 24
7-7 supplied with system) 794447 Fleet Pump & Service Group, Inc. $325.00
Sleeve, Quartz,
28mmx25mmx1850mm domed,
7-8 flared (4 Pack) 316136 Fleet Pump & Service Group, Inc. $415.00
7-9 Plug, UV3 + PDC Module 6' 914374-006 Fleet Pump & Service Group, Inc. $97.75
Spring, SS Compression (Pkg. of 10)
7-10 New No.: 901376P 901376 Fleet Pump & Service Group, Inc. $60.00
Sleeve cup nut (Pkg. of 10)
7-11 New No.: 316148P 316148 Fleet Pump & Service Group, Inc. $31.00
O-Ring Seal (End cap ballast seal)
7-12 *Pkg. of 10) New No.: 316509 316168 Fleet Pump & Service Group, Inc. $45.00
O-Ring, Sleeve Support (4
Recommended) (Pkg. of 10)
7-13 New No. 316144P) 316144 Fleet Pump & Service Group, Inc. $1.43
7-14 O-Ring, Sleeve Support 316145 Fleet Pump & Service Group, Inc. $0.10
7-15 Coupling, Female 013168-04FST NO AWARD
7-16 Coupling, Male 013169-04MST NO AWARD
Rubber Dust Collector, Female
7-17 Coupling 013199-04F NO AWARD
Rubber Dust Collector, Male
7-18 Coupling 013200-04M NO AWARD
Hydraulic Hose ASY, Retract, LS 907424-
7-19 (Black) 04F071BK NO AWARD
Hydraulic Hose ASY, Extend, LS 907424-
7-20 (Black) 04M150BK NO AWARD
Hydraulic Hose ASSY, Retract, RS [907424-
7-21 (Blue) 04F145BL NO AWARD
Hydraulic Hose ASSY, Extend, RS |907424-
7-22 (Blue) 04M066BL NO AWARD
Hydraulic Tube Extend, SS, 4 Lamp
Modules 326417-430-435{
7-23 New No.: 326417-440 440 Fleet Pump & Service Group, Inc. $29.00
Hydraulic Tube Retract, SS, 4 Lamp [326418-430-435;
7-24 Modules New No.: 326418-440 (440 Fleet Pump & Service Group, Inc. $29.00
Nut, Locking Bar Lock Brackets
7-25 New No.: 011047 011047 Fleet Pump & Service Group, Inc. $0.07
Screw, Lock Brackets and Drive Bar {010314-
7-26 Mount AAf083160 Fleet Pump & Service Group, Inc. $0.52
Lock Washer, Sensor Drive Bar
Brackets
7-27 New No.: 012014P 012014 Fleet Pump & Service Group, Inc. $0.22




TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
7-28 Wiper Bracket, Upper 327766-UPR Fleet Pump & Service Group, Inc. $9.50
7-29 Wiper Bracket, Lower 327766-LWR Fleet Pump & Service Group, Inc. $9.50
7-30 Bracket, Sensor Lock 327132 Fleet Pump & Service Group, Inc. $0.79
7-31 Lock Plate, Drive Bar 327130 Fleet Pump & Service Group, Inc. $1.75
7-32 Cylinder, Wiper 326411 Fleet Pump & Service Group, Inc. $1,334.00
Grease, Food Grade (1
Recommended, 1 Supplied with
7-33 System) New No.: 005066 005066 Fleet Pump & Service Group, Inc. $19.00
7-34 Grease, Nipple 326399 Fleet Pump & Service Group, Inc. $4.70
7-35 Grease Gun 5067 NO AWARD
Fitting, Plastic (2 Per Canister)
7-36 (Pkg. of 10) New No.: 327027P  |327027 Fleet Pump & Service Group, Inc. $25.00
Fitting, Plastic 90 degree elbow
7-37 Pkg. of 10) New No.: 327066P 327066 Fleet Pump & Service Group, Inc. $41.00
Seal Kit UV3000Plus - Plastic
7-38 Canister (1 Recommended) 327122 Fleet Pump & Service Group, Inc. $24.40
7-39 Tube, 1/4 diameter Viton 12" 327030 Fleet Pump & Service Group, Inc. $6.12
Cap Removal Tool (UV3 + Wiper
7-40 End Cap Tool) 327126 Fleet Pump & Service Group, Inc. $19.40
Plug, Rubber Wiper Filler (Top vent
and bottom filler) (Qty 2 per module)
7-41 (Pkg. of 10) New No.: 327095P 327095 Fleet Pump & Service Group, Inc. $14.55
010313-
7-42 Screw, Top Vent (Sensor Only) AAF063160 Fleet Pump & Service Group, Inc. $0.50
7-43 Washer, Upper and Lower brackets (010116 Fleet Pump & Service Group, Inc. $0.19
7-44 Lock Washer,Drive Bar Mount, 1/4" [{010035 Fleet Pump & Service Group, Inc. $0.28
7-45 Screw, Drive Bar Mount 010362 Fleet Pump & Service Group, Inc. $1.21
7-46 Valve, Rubber Wiper relief, 4-7 PSI (445044 NO AWARD
Adaptor, Pressure Relief
7-47 (New No.: 327795) 327765 Fleet Pump & Service Group, Inc. $5.25
7-48 Washer, Flat 012071 NO AWARD
7-49 Module Board Kit 914385 Fleet Pump & Service Group, Inc. $165.00
7-50 Board, UV3 + MCB 220-227V 912356-001 NO AWARD
7-51 Desiccant, DESI PAK 1/6 Unit 302366 NO AWARD
7-52 Lubricant, Dow 111 5 g Pak 003084 NO AWARD
Seal, End Cap Ballast Enclosure
7-53 UV3+ (1 recommended) 316479 NO AWARD




TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
7-54 INSTN, Module Board Replacement (914383 NO AWARD
Ballast Kit (1 Recommended, 4
7-55 ballast supplied with system) 914384 NO AWARD
Ballast, UV3+ Standard
7-56 New No.: 915378 903988-001 Fleet Pump & Service Group, Inc. $784.00
7-57 Desiccant, DESI PAK 1/6 UNIT 302366 NO AWARD
7-58 Lubricant, Dow 111 5 g Pack 003084 NO AWARD
Strain Relief, 1/2" C/W O-ring
7-59 New No.: 914478-129 302456 Fleet Pump & Service Group, Inc. $7.70
Screw, 5/16-18x1/2" Allen Head
7-60 New No.: 010313-AGC10316 303314 Fleet Pump & Service Group, Inc. $0.25
O-Ring 1/4 x 3/32 Nitrile UL
7-61 New No.: 002226-108ULP 002226-108UL | Fleet Pump & Service Group, Inc. $1.25
7-62 Desiccant, DESI PAK 1/6 UNIT 302366 NO AWARD
Instruction, UV3 + End cap
7-63 replacement 316492 NO AWARD
7-64 Spacer Clips 329226 Fleet Pump & Service Group, Inc. $3.05
Screw (Spacer Clip) 6-32x3/5 S- Tap
7-65 Phillips 010011 Fleet Pump & Service Group, Inc. $0.06
7-66 Hydraulic Filter (1 Recommended) [907384 Fleet Pump & Service Group, Inc. $40.00
7-67 Contactor, 12A Schneider Mini 914287 Fleet Pump & Service Group, Inc. $31.40
7-68 Contactor, O/L 380-480V 914289-003 Fleet Pump & Service Group, Inc. $16.35
7-69 Contactor, O/L 208V 914289-005 Fleet Pump & Service Group, Inc. $16.95
7-70 PLC, TWIDO, compact 2410 913292-110 Fleet Pump & Service Group, Inc. $215.00
Fuse Block, 1P New No.: 914768-
7-71 110 912579 Fleet Pump & Service Group, Inc. $9.90
Fuse Block, 3P New No.: 914768-
7-72 310 912789 Fleet Pump & Service Group, Inc. $30.20
Fuse, 6A Class CC (1
Recommended, 24 supplied with
system)
7-73 New No.: 914568-060 913838 Fleet Pump & Service Group, Inc. $4.30
Fuse, 4A Class CC (1
Recommended, 24 supplied with
7-74 system) New No.: 914568-040 912932 Fleet Pump & Service Group, Inc. $5.65
Hydraulic fluid, Tellus, 20L (1
Recommended, 1 Supplied with
7-75 system for commissioning) 444295 Fleet Pump & Service Group, Inc. $215.00
7-76 Gas Door Struts - 30 Ib 901711-30 Fleet Pump & Service Group, Inc. $45.50
7-77 Gas Door Struts - 40 Ib 901711-40 NO AWARD




TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
7-78 Gas Door Struts - 50 Ib 901711-50 NO AWARD
7-79 Gas Door Struts - 60 Ib 901711-60 NO AWARD
7-80 Low Level Sensor Module 24 VDC (914345-001 Fleet Pump & Service Group, Inc. $163.50
Power Supply, 10A 24 VDC
7-81 New No.: 916051-459 914277 Fleet Pump & Service Group, Inc. $124.00
Relay 16A 3P Touch Safe (1
recommended, 24 supplied with
7-82 system) 914341 Fleet Pump & Service Group, Inc. $14.05
7-83 Relay, 15A Base 912806 Fleet Pump & Service Group, Inc. $10.50
7-84 Receptavle, UV3 + 2007 914343 Fleet Pump & Service Group, Inc. $55.00
7-85 Receptavle, UV3 + PDC cap 914368 Fleet Pump & Service Group, Inc. $9.80
7-86 Fuse Block, 1 P 912579 NO AWARD
7-87 Fuse Block, 3P 912789 NO AWARD
Fuse, 15A class CC (1 recommended,
24 supplied with system) New No.:
7-88 914569-150 913420 Fleet Pump & Service Group, Inc. $5.70
Fuse, 6A Class CC (1
Recommended, 24 supplied with
7-89 system) New No.: 914569-060 912333 Fleet Pump & Service Group, Inc. $4.35
Board ASY, UV3+CCB (kit)
(Board Kit, UV3+CCB)
7-90 New No.: 931096 931092 Fleet Pump & Service Group, Inc. $1,601.00
7-91 Board, UV3+CCB 931086 Fleet Pump & Service Group, Inc. SEE 7-90
Acticlean Gel (1 Recommended, 1
7-92 Supplied with system) 901507 Fleet Pump & Service Group, Inc. $171.00
7-93 Pressure Injector, Gel UV3 + PLG 327096 Fleet Pump & Service Group, Inc. $224.00
7-94 Injector Tip Fitting, 90 degree Elbow (327066 Fleet Pump & Service Group, Inc. SEE 7-37
Safegard M-1, Rust inhibitor (kit) (1
Recommended 1 supplied with
7-95 system) 331004 NO AWARD
7-96 Safegard M-1, Rust inhibitor, 0.95L [331003 NO AWARD
7-97 Bottle Spray, Polyethylene 110156 NO AWARD
015393-S-
7-98 Sensor ASSY, UV3 + NIST9c/w box |158NB Fleet Pump & Service Group, Inc. $1,995.00
7-99 Sensor Shipping Box 015378 NO AWARD
Sensor Rear Mount Kit (Complete  [015393-S-
7-100 with Cable ASSY) 158NB Fleet Pump & Service Group, Inc. SEE 7-98
Sensor Rear Mount Kit (No Cable
7-101 ASSY) 015403-002 Fleet Pump & Service Group, Inc. $258.07




TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
Sensor Cable Kit, UV3 + NIST (c/w
7-102 cable and grommet) 015406 Fleet Pump & Service Group, Inc. $130.00
010330-
7-103 Sensor Mount screw, #8-32x1/2" 83A8C1088 Fleet Pump & Service Group, Inc. $0.77
7-104 Lock washer, #8 (for retaining screw)|700126 Fleet Pump & Service Group, Inc. $0.51
7-105 Sensor Sleeve 015239 Fleet Pump & Service Group, Inc. $127.00
7-106 Washer, Sensor Sleeve 015244 Fleet Pump & Service Group, Inc. $6.10
O-Ring, Sleeve Seal (1
7-107 recommended) 316144 Fleet Pump & Service Group, Inc. SEE 7-13
7-108 Sleeve Cup Nut 316148 Fleet Pump & Service Group, Inc. SEE 7-11
7-109 Bracket ASSY, 4.0" Spacing 015237-400 Fleet Pump & Service Group, Inc. $43.50
7-110 Sensor Cable Kit Trojan 15406 Fleet Pump & Service Group, Inc. SEE 7-102
7-111 Uv3+cch processor board Trojan 931087 Fleet Pump & Service Group, Inc. SEE 7-90
Any part not listed for the Trojan
7-112 3000 plus UV N/A Fleet Pump & Service Group, Inc. 0%




TOH 16-09R-046

TOWN OF HUNTINGTON

Price/
Vendor Percentage
Section #9: Xylem brand Flygt pumps
Parts and Labor:
Percentage off Manufacturers List
9-1 Price for materials Fleet Pump & Service Group, Inc. 5%
Labor Cost to Repair Listed
9-2 Equipment
9-2a Mechanic - /HR Fleet Pump & Service Group, Inc. $125.00
Helper - /HR Fleet Pump & Service Group, Inc. $125.00
Labor Rates (Weekends and
9-2b Holidays)
Mechanic - /HR Fleet Pump & Service Group, Inc. $250.00
Helper - /HR Fleet Pump & Service Group, Inc. $250.00
Section 11: Supply parts for Atlas Copco Stationary compressors ZS
75+ VSD APF176732
Percentage off Manufacturers List
11-1 Price for materials NO AWARD
Section 12: Komline-Sanderson Gravabelt GSC-2 Series #3 S-3935
Belt Filter Press
Percentage off Manufacturers List
12-1 Price for materials G.P. Jager, Inc. 0%
Section #15: Supply parts for Komline-Sanderson K-S Plunger Pump
Model # KSK-9-1 S/N 9KSK-43, and 9KSK-44
Percentage off Manufacturers List
15-1 Price for materials G.P. Jager, Inc. 0%

10



